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Section 1

Instruction

* Respond to these questions in the question and response book.

QUESTION 1
(%) s equivalent to
(A) 0
B) 1

©) x

(D)

==

QUESTION 2

If £(x) =e® ", determine the value of f(2).
(A) e?
(B) 2¢°
(C) —e°

(D) -2¢*

QUESTION 3
A bag contains 10 buttons of the same shape and size in different colours: 5 blue, 3 green and 2 red.

If 3 buttons are randomly drawn from the bag, which probability can be calculated using the binomial
distribution?

(A) P(3 green) with replacement
(B) P(3 blue) without replacement
(C) P(2 green and 1 red) with replacement

(D) P(2 red and 1 blue) without replacement
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QUESTION 4

20
If the gradient of the function f{x) is given by —, then f{x) is equal to
X

60
(A) ——Z+c
X

B) 2 4c
X

©) —E+c

2
X

(D) —4—(2)+c
x

QUESTION 5
Determine Fde.
1 2x
(A) 1 In6
2
(B) 1 In5
2
© 1 In 4
2

(D) %1113

QUESTION 6

a" -1

Substitutions for / are used to estimate the limit of as h — 0. Which sequence is the most appropriate?
(A) —4,-2,-1,-0.5,-0.25,-0.125 ...

(B) —0.05,-0.1,-0.2,-0.4,-0.8 ...

<€) 2,1,0,-1,-2,-3 ...

D) 1,2,3,4,5,6 ...

2 of 4



THIS PAGE WILL NOT BE MARKED

QUESTION 7

Determine the mean of the continuous random variable X with the probability density function

e
f@=18"

0, otherwise

0<x<4

(A)

(B)

©

(D)

Wl N~ o|Ww oo~

QUESTION 8

A sample of size n was used to estimate a population proportion. An approximate margin of error of 3% was
calculated using z = 1.96. Given the sample proportion was 0.6, determine 7.

(tse)
(A) noL196

0.24
0.24
®) n=—
(o.osj
1.96
il
1.96
C) pe20/
© n==7
D) o 24

0.03)?
1.96
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QUESTION 9
Determine J.(?ﬂsin (% x)dx.
(A) 3
(B) 6
<€ -3

(D) -6

QUESTION 10

The continuous random variable Y has the probability density function

1+, OSyS\/g—l
f=

0, otherwise

1
Determine P(0< y < E)

) 1
5
®) 3
8
© 2
8
o 2
4
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